Virginia High School League Regional Competition, 2000-01 season

Match #9


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
What landmark that has been closed since 1990 to prevent its toppling needs to be straightened another 1.4 inches before it can be re-opened to the public?

ANSWER: The LEANING TOWER OF PISA
2.
This silver-gray element takes its name from the Latin word for lime. It is used in the manufacture of iron and steel, and is biologically important for the proper formation of bones and teeth. What is this alkali earth element with average atomic weight 40.08, atomic number 20 and symbol Ca?

ANSWER: CALCIUM
3.
THIS IS A COMPUTATION QUESTION. A quizmaster for a VHSL Scholastic Bowl match can read 3 tossups a minute, and can read 2 directed questions a minute. Assuming the breaks take a total of 4 minutes, how long does the quizmaster take to finish the match?

ANSWER: TWENTY-FOUR MINUTES (5 minutes for first and third periods, 10 minutes for second period, 4 minutes of breaks)

First period (continued)

4.
In this poem, a ruined statue is surrounded by “the lone and desert sands strech far away.” On the foot of this statue are carved the words “Look on my Works, ye Mighty, and despair!” What is this poem about a ruined statue of Ramses II by Percy Bysshe Shelley?

ANSWER: OZYMANDIAS
5.
The American party of the 1850s obtained its name from the password used at lodge meetings throughout the country. What was the name given to this party that stressed anti-Catholic and anti-immigrant policies and ran Millard Fillmore as a candidate for President?

ANSWER: KNOW-NOTHING party

6.
What 1960s comedy was set at a German POW camp which was supervised by Colonel Klink?

ANSWER: HOGAN’S HEROES
7.
What name is given to a settlement of people that is based on the common ownership of material goods, practiced most famously in 1871 in Paris to challenge the authority of the French government and in the 1960s as an ‘alternative’ method of living?

ANSWER: COMMUNE
8.
His collected essays and reviews filled up six volumes, aptly titled Prejudices. He published a book called The American Language, an attempt to bring together examples of American idioms. He also edited the American Mercury from 1924 to 1933. Who is this essayist and journalist worked for the Baltimore Sun for most of his life?

ANSWER: H.L. MENCKEN
9.
THIS IS A COMPUTATION QUESTION. Assume a smoker shortens his life by three minutes with every cigarette he smokes. Assuming 20 cigarettes in a pack, how many packs will a smoker have to smoke to shorten his life by a week?

ANSWER: 168 packs (20 cigarettes/pack equals 1 pack/hour. 24 * 7 = 168)

First period (continued)

10.
What name is given to the non-cellular structures in blood that function in blood clotting?

ANSWER: PLATELETs

11.
Who is the Italian, in the hire of the English, that was the first explorer to sight the North American mainland, doing so in 1497?

ANSWER: John CABOT
12.
What eleven-letter word starting with ‘P’ means to induce someone to convert to one’s institution, especially a religion?

ANSWER: PROSELYTIZE
13.
What type of differentiation is used to find the derivative dy with respect to x of an equation such as x squared plus y squared equals 25?

ANSWER: IMPLICIT differentiation

14.
The paintings Mending the Nets, The Woodcutter, and The Gulf Stream are all by what 19th century American artist?

ANSWER: Winslow HOMER
15.
What is the name of the anti-matter partner of the electron?

ANSWER: the POSITRON
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What name is given to the value or values passed to a function?

ANSWER: ARGUMENTS
1B.
From what country did the United States buy the U.S. Virgin Islands in 1917?

ANSWER: DENMARK
2A.
What is the six-letter name given to a field that is allowed to rest for a growing season in order to replenish the soil?

ANSWER: FALLOW
2B.
What American novelist wrote the book Sister Carrie?

ANSWER: Theodore DREISER
3A.
Who is the Missouri Supreme Court justice whose appointment to a federal judgeship is one of the issues being used against John Ashcroft in his confirmation hearings?

ANSWER: Ronnie WHITE
3B.
THIS IS A COMPUTATION QUESTION. The area of a circle is 25 PI square inches. What is its circumference in inches?

ANSWER: 10 PI inches (the radius is 5 inches, hence its diameter is 10 inches)

4A.
In 1868, the last shogun was overthrown by what Japanese Emperor that returned the post to political prominence?

ANSWER: MEIJI
4B.
What is the formula of a nitrate ion?

ANSWER: NO3
Second period (continued)

5A.
What noun case is used most frequently with the subject of a preposition?

ANSWER: ABLATIVE (uh-BLAY-tiv)

5B.
Who is the President of the Democratic Republic of the Congo that was shot in his residence during an attempted coup on Tuesday, January 16?

ANSWER: Laurent KABILA
6A.
THIS IS A COMPUTATION QUESTION. What is the y-intercept of a line that runs between the points (2,5) and (8,9)?

ANSWER: Y = 2/3X + 11/3 (the slope of the line is 2/3 as 9-5 / 8-2 = 4/6. So Y = 2/3X + B, plug in 2 and 5 for X and Y getting 5 = 2/3 (2) + B, which means 5 = 4/3 + B, which means 11/3 = B)

6B.
He broke with Stalin in 1948, but remained a Communist. Who is this leader of the Yugoslav Partisans that ruled the country from 1946 to his 1980 death?

ANSWER: Josef Broz TITO (Marshal Tito)

7A.
In what sort of bond does an electron ‘jump’ from one atom to another, thus forming two charged particles?

ANSWER: IONIC bond

7B.
What 20th century American poet who committed suicide in 1974 published the collections To Bedlam and Part Way Back, All My Pretty Ones, Live or Die and The Book of Folly?

ANSWER: Anne SEXTON
8A.
What musical era ran between 1600 and 1750 and was followed by the Classical period?

ANSWER: BAROQUE
Second period (continued)

8B.
THIS IS A COMPUTATION QUESTION. What is the geometric mean of 5 and 18?

ANSWER: THREE SQUARE ROOTS OF TEN or SQUARE ROOT OF NINETY (5/a = a/18, leads to a squared = 90, which leads to a is three square roots of ten)

9A.
What mountain range forms a hook shape through Romania, forming the southeastern border of the Transylvanian plateau?

ANSWER: CARPATHIAN Mountains

9B.
How many Kelvins, to the nearest integer, is zero degrees celsius?

ANSWER: 273 kelvins

10A.
Who wrote the book Vanity Fair?

ANSWER: William Makepeace THACKERAY
10B.
What French composer is known for the whimsical Carnival of the Animals?

ANSWER: Camille SAINT-SAENS
Third period: 15 toss-ups

1.
THIS IS A COMPUTATION QUESTION. A worker can make 100 gadgets OR 50 widgets an hour. In an 8-hour shift with a 30 minute lunch break, how many gadgets can he make if he has a quota of 150 widgets to make?

ANSWER: 450 gadgets (He uses three hours to make his widgets. That leaves 4.5 hours and at 100 gadgets/hr, that’s 450 gadgets)

2.
We currently live in the Holocene epoch of what geologic time period?

ANSWER: QUATERNARY
3.
Sin appears to be the chief villain in what lastest chapter in the Final Fantasy series for the Playstation 2?

ANSWER: TEN (Final Fantasy X; your humble Commissioner remembers defeating Final Fantasy I back in 1992.)

4.
James Meredith was admitted to what university in 1962 after a small riot and the intervention of National Guard troops under federal command?

ANSWER: UNIVERSITY OF MISSISSIPPI
5.
They are the two former schoolmates of Hamlet that are sent to England with Hamlet, carrying a warrant for Hamlet’s death. Who are these two characters that are killed when Hamlet changes the warrant to have them but to death instead?

ANSWER: ROSENCRANTZ and GUILDENSTERN

6.
What novel by F. Scott Fitzgerald, his first, centers around Amory Blaine’s adventures at Princeton with women and with literature?

ANSWER: THIS SIDE OF PARADISE
7.
It was finished in the 7th century, and extended for over 1,100 miles between the Yellow and Yangtze Rivers in China. What is this canal, the longest artificial waterway in the world?

ANSWER: GRAND CANAL

Third period (continued)

8.
What name was given to the dung-rolling beetle which was given great mythological significance by the Egyptians, as it seemed to come from nowhere?

ANSWER: SCARAB
9.
What type of reaction occurs when two substances are mixed together and a solid, different from the original substances, separates from the solution?

ANSWER: PRECIPITATION reaction

10.
THIS IS A COMPUTATION QUESTION. A man turns 24 and has his car insurance premium of $2,500 a year reduced by 10%. However, he gets in an accident a year later, and has his premium increased by 20%. What is his new premium?

ANSWER: $2,700 ($2,500 premium becomes $2,250 after age 24. However, 20% of $2,250 is $450 and the new premium is $2,700.)

11.
The main character finally comes to hate the title object, and destroys it at the end of the novel. However, when he does this, he ages immensely and then dies. What is this novel about a man who commits great evils, yet retains his youth appearance, only aging in a portrait?

ANSWER: THE PORTRAIT OF DORIAN GRAY
12.
The Battle of the Plains of Abraham occurred outside of what city during the French and Indian War?

ANSWER: QUEBEC City

13.
The principle of ahimsa, or non-violence toward all living things, is the central tenet of what Indian religion founded around 600 BC?

ANSWER: JAINISM
14.
What name is given to a mental or physical disorder where it is difficult to fall or remain asleep?

ANSWER: INSOMNIA

Third period (continued)
15.
THIS IS A COMPUTATION QUESTION. What is the supplement of an angle whose complement is 42 degrees?

ANSWER: 132 DEGREES (The angle is 48 degrees therefore the supplement is 132 degrees)

Spares

What eight-letter word can define a great fall of water, such as that which occur on the Nile River, or an opacity in the lens or capsule of the eye, which prevents the passage of light and impairs or destroys sight?

ANSWER: CATARACT
What term is given to a vetoing of certain items in a bill, allowing other items to become law?

ANSWER: LINE-ITEM veto

What is the name of the bone that forms the upper arm?

ANSWER: HUMERUS

What name is given to a set with no elements in it?

ANSWER: NULL set

What Italian painter is best known for his painting Judith Beheading Holofernes?

ANSWER: CARAVAGGIO
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